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( )1. GET £2 PUT & HTML Form FZREEERFIZE Web Server KRR -
( )2. CEEErY#include <stdio.h>&rj§—{E exe RS RERAER P -

( )3. Linux REEEEHRYIAY5H2E root -

( )4. Data Flow Diagram & UML diagrams #y—i °

(

)5. Java FEEIY Static HHETRAIEHIIE

(  )6. When power is turned on, the CPU begins executing the instructions locatead in the CMOS
chip.

)7. Deadlock issues are resolved without the intervention of the operating system.
)8. The principal of induction does not apply to fiber-optic cables at all.
)9. Unlike repeaters and hubs, bridges have intelligence.

(
(
(
( )10. Shifting the starting point of an audio waveform is known as frequency modulation.
(  )11. You can compress information by replacing repeating patterns with a code.

(

)12. The Internet is a collection of LANs and WANSs that are connected together to form a giant
WAN.

(  )13. A queue is another type of linked list that implements a LIFO storage system.

(  )14. The disadvantage of relative file access is that disk space can be wasted if data does not
fill the entire record if some of the relative records do not have data.

( )15. A component diagram depicts the physical architecture of a computer-based system.

( )16. Asymmetric encryption uses a private key to both encrypt and decrypt data.

( )17. A demilitarized zone is a location outside the firewall that is more vulnerable to attack from
outside.
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1. P —{EEGES LS SR EN HTML R AIEAER 7
(A) Java '
(B) C
(C) Ada
(D) JSP

2. AT HEEEATT Web X RIThHE R ERIRSSIaEATT 7
(A) 1T JavaScript FJE R,
(B) $ifT SQL Z&y
(C) HET HTML 384%
(D) #{T Applet F2x\

3. TFIHH C G E hRUGASCE » fTHIER ?
(A) C RFREE =8 Al LIE s I A R BB ER
(B) EXFREFREREHERE (type)

(C) short N2 —fAURR
(D) FEFRsrRYRRRE AT

4. UM AREGE S R ERERERRYRGL » (A IERE ©
(A) HHEFR2E (compiler) s HAZ RIS {THAL (executable file )
(B) C EEE U HBAZH preprocessor pRi .
(C) parser RUTHEERIGERBEIGIR
(D) #Es%4s (interpreter) RAEEATTIRIAE

5. EHHt C BAEHEUBRY—uliy » B2 T RIEREK -
{

int s1;

char s2[5};

scanf( );

printff(C._ )
!

BB FA BB 2B B EvE = scanf 52 printf RI{EERBAYRR » IEERE?
(A) scanf(*%d %c”, s1, s2); e EHERIERAR

(B) scanf(*%d %s”, &s1, s2); BIERERIFEIY scanf BHERIT

(C) printf(“%d %s", s1, s2); TR EFHEHERAR

(D) printf(*%d %c", s1, s2); SERHH s1 62 s2 HY{H
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6. I THR UML FFSRAETERE ?
(A) UML E29{4- 3 i3 RHEL
(B) UML 5 FZAI (use cases) HIFTREL
(C) activity diagram & UML (—iRE
(D) UML —fik i ss 7k

7. BUFABRRERETEE (World Wide Web) BB AGIAT# R IERE ?
(A) Ruby 2—(HHFIHIR 2R EAEEARETES
(B) R JSP REAZRYEZ 1418 Model 1
(C) Ruby on Rail 22— B YEZE (framework)
(D) Session B —fEE {7 A EHARERI AR

8. DI F4AH XML Web Services BY2GR{a2 TERE 9
(A) XML Web Services ZaF AR IEHBER D E# R
(B) SSL &% T HEFf282 XML Web Services EREBIIEE
(C) XML Web Services R EHBRER B SIS
(D) XML Web Services S84 mH: iR

0. AT HBNRAEHEaIREI - I3 1ERE ? ¢
(A) ARG RERHLE R
(B) #EAR (stack) HIFFHERERERML » 77 (queue) RYSFFHERESCHESRH
(C) BiBE—HH & R SRR S SER S 3
(D) Hed (stack) HEEFRTIRE

10. #kFFER 4, 6,7, 6, 8,9, 3, 2, 1 S4EFREEMEZRERM—E =5 (binary tree) o
AP FHER (inorder traversal) REEAR e ETBAREENHIR » ERABFE
B/ NBAHESY - GRE BRAE A = TSt SGi A FIERE ?

(A) 9 B—BEIAERENE, (internal node)
(B) 7 2—{EIZEMTS (leaf)

(C) 2 Z2—{HIEHBL (leaf)

(D) BIoRisiRE 4

11. UTFERAL Java HEEHREE (JVM) ZKE41T Java EEXAISBERATETIERE 7
(A) Applet TN EFE JVM L3ATT
(B) Java BYFUUREAAHEEESE JVM E3ATT
(C) JVM EZET BCRIES# (instruction set)
(D) JVM B CAFEAR [EIRYHEHE E3hTT
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12. DUTHRH C FEE 2 BIRGH » (&R 7
(A) FAFRBBHARCER - EEAFTOTRERE - PSRRIt
(B) extern & C H—{BEIEREEIRF (storage class)

(C) a3 {EAd import SERTA(E LAl SRR 2k i
(D) e E HE R S R

13. The high-speed cache memory in your computer is'made from circuits.
(A) adder '

(B) shifter
(C) flip-flop
(D) decoder

14, patterns contain information about the color and brightness of a pixel.
(A) Binary
(B) Octal
(C) Decimal
(D) Hexadecimal

15. direct network traffic based on the loglcal (IP) addresses assigned at the third layer of
the OSI stack.

(A) Hubs
(B) Bridges

- (C) Gateways
(D) Routers

16. The total pool of IPv4 addresses is separated into groups, called
(A) classes |
-~ (B) entities
(C) aggregations
(D) clusters

17. So that packets do not keep bouncing from router to router forever, one of the fields in the IP
header is the field.

(A) time to live
(B) time to expire
(C) lifetime
(D) expiration




— SR b B
/N AT - IVNE- R RER .
A 97 B4 B L BE A BB AR RIE : SO ()

18. With _____, multiple computers can share one Internet connection.
(A) NAT ' |
(B) DHCP
(C) TCP/IP
(D) UDP

19. ______formats content for display in a browser and transfers information via the Web.
- (A) SGML
(B) XML
(C) HTML
(D) PHP

20. A(n) ____ dependency exists when one column [s dependent upon another column that is not
the primary key.
(A) transitive
~(B) dysfunctional
(C) relational
(D) associative

21. _____ showsthe numeri*c occurrences between entities in an ER model.
(A) Functionality
(B) Cardinality
(C) Transitivity
(D) Dependency

22. occurs when new changes are continually added to a project thus changing the proposed
completion date so that the project is never completed, but is instead in constant improvement

mode.

(A) SDLC

(B) Prototyping
(C) Scope creep
(D) Testing
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23. ____is a method of splitting a laser beam and using a device called a spatial light modulator to
store full pages of information in layers on a crystal material.
(A) Fuzzy logic
(B) Pattern recognition
(C) Holographic storage
(D) Speech recognition

24. ___ are well suited for applications such as visual speech recognition applications.
(A) DVRs |
(B) Quantum computers
(C) Turing tests
(D) Neural networks

25. The concept of each person interacting with many, sometimes invisible computers has been
named“ " by computer scientist Mark Weiser.
(A) 1984
(B) ubiquitous computing
(C) massive parallelism
(D) nanotechnology

=~ 2RH ¢ 16%

A C B Java SER =EEFN 5  E=FHEREH a7 ¥R (recursion) ~ Bim
sBE (tail recursion) £35ERE (loop) » E{¥PETREESBL (factorial function) -




